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Cattle Ranch

Pyrethrum

SCALE: 0 ¢ 2

KEY

MOSQ Mosque F.F Fish factory

c.Cc Chief's camp HOSP Hospital

PP Police post ‘3@ 3& Natural forest

SCH School Railway line

C.C.0  County commissioner office (R Tarmac road

c.0 County offices 3 Murram road

C.F Cattle factory 13  Permanent buildings
F.T Fish traps ,'}: Human settlement
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Study the map of Toto area and use it to
.answer questions 1 to7

1.

The land in Toto area slopes towards
A. South East

B. North West

C. East

D. West

What is the approximate length of the tarmac
road in Toto area?

A. 20km

B. 10km

C. 16km

D. 12km

The settlement pattern found in Toto area is
. nucleated

linear

. clustered

. influenced by drainage

gow>

The MAIN economic activity carried out in-

Toto atea is likely to be

A. trade -

B. crop farming

C. transport and communication

D. fishing

The climate experienced in the Eastern part
of Toto area is LIKELY to be

A. hot and wet
B. cool and wet
C. hotand dry
D. cool and dry

-

Traders in Dete market obtain their trading
licenses from the

A. chief’s camp

B. police post

C. county commissioner’s office

D. county offices

Most of the residents in Toto area are
A. Muslims

B. Pagans

C. Christians

D. Hindus

10.

11.

12

13.

Which one of the following groups of needs
compromise of basic family needs only ?

A. Food, clothing and shelter

B. Water, shelter and clothing

C. Security, food and shelter

D. Education, food and clothing.

Which one of the following groups of
communitics is found in West:Africa?

A. Shona, Ndebele, Ngoni

B. Berbers, Tuaregs, Arabs

C. Igbo, Yoruba, Akwapim

_D. Xhosa, Zulu, Venda

The MAIN reason for rural to urban
migration is

. inadequate farming land in rural areas.
search for jobs in towns.

. retirement from employment.

. availability of good infrastructure in towns.

oOw>

Which one of the following is an effect of the

revolution of the earth?

A. Occurrence of sunrise, noon and sunsect.

B. Change of the lunar eclipse.

C. Occurrence of day and night.

D. Differences in time along different
longitudes.

Three of the following factors promote peace
in our country. Which one DOES NOT?
A. Equal opportunities for all.

B. Games and sports

C. Dialogue amongst citizens.

D. Co-operation with terrorists.

Which one of the following is TRUE about
the River Congo?

A. Itisthe biggest river in Africa.

B. Ithasadelta at its mouth.

C. ltdrains it water in the Indian ocean.

D. Itisnotnavigable due to rapids and water
falls.
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14.

15,

16.

17

18.

Coflee growing in Ethiopia and Kenya is
important MAINLY because it

A. improves living standards.

B. leads to development ol infrastructure.
C. creates employment in both countrics.
D. is asource of foreign exchange.

L4
The following are roles of school
administrators.

(i) lleading the scheol disciplinary
commilfee.

(i) Admitting new pupils to the school.

(iii) Disciplining pupils who fail to
observe school rules. .

(iv) Writing minutes in a siaff meeting.

Which onc of the following are the duties of
aschool deputy headteacher ONLY?

A. (D)and (iv)

3. () and (i)

C. (i) and (iii)

). (i) and (iv)

—

—

Three of the following we duties of the

Mutemi of the Nyamwesi. Which one is

NOT? He

AL was the commander-in-chief of the
Nyamwezi army.

B. controlled trade between the Nyamweyi
and Arabs,

C. expanded his kingdom awside Nyamwezi
wrritory,

D. made judgements en case . of murder.

.
Which onc of the following policics was used
by the IFrench to administer West Africa?
A. Directrule

B. Assimilation

C. Indirectrule

D. Paternalism

Which one of the following  pes of trees is
found in a planted forest?

A. Mvule

B. Oak

C. Mahogany

D. Pinc

19.

20

4 [

22.

23,

The first Aliican country to gain independence
from the l:uropean was

A. Sudan

B. South Africa

C. Ghana

D. Egypt

The statements below describe a town in
Kenya.

(i) It is located on a flut urea suitable
for expansion,

I started as an agricultural centre.
ltenjoys « good supply of water from
nearby rivers.

It is a major industrial centre.

(i)
(iif)

(iv)
The town described above is LIKELY to be
A. Thika

B. Nairobi

C. Nakuru

D. Eldoret

The MAIN tucter thataffects natonal unity
inKenyais

A. corruption

B. tribalism

C. equal distribution of resources.

D. political diffcrences

A person may become a citizen of Kenva

through registration if he/she

A. was born in Kenya by non-citizens of
Kenyu.

B. visits Kinva as a tourist for seven
CONSCCULIVe vears.,

C. ismarricd 1 a citizen of Keny a for at least
seven yuars,

D. is a child who secems to be below cight
years of age.

Who among the following African leaders
collaborated with the British in Eastern
Africa?

A, Kabaka Mwanga

B. Mwanawina |.cwanika

C. Chief Nana of ltsckiri

D. Kabaka Mutesa |
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24 The population distribution in Africa is | 28. The winds marked Tare called

. MAINLY influenced by A. The Harmattan
A. Pests and discases B. North East Trade Winds
B. Urbanisation C. Westerlies
C. Government policy D. South Westerlics

D. Climate
. 29. Which one of the following was NOT used
Use the map of Kenya provided to answer in traditional forms of education?
questions 25 to 28 A. Story telling

: B. Composition writing
C. Working with adults

D. Imitation
;
A 30. The following arc conditions that favour a
3 M growth ol'a certain crop in Kenya.
.._T.ﬁ_, (i) Wuarm temperature of about 235¢
during the growing time.
(i) Moderate rainfall of benween 30Umm
and 1100mm
(iii) well drained fertile soil.
—5? (iv) flat lund especially where machings
== are inmvolved.
The conditions stated above are suitable fon
* i “the growth off
By A. tea
B. cotton
C. tlowers
D. wheat
25. The country marked Kis 31. The MOST eflective \\“u_vs ol curbing drug

A. Swaziland and substance abuse is

B. Lesotho A. creating public awareness on drug nd
C. Switzerland N ‘ substance abuse.
D. Botswana B. preventing smuggling of drugs at border
points.
26. Which one of the following is NOT TRUE | C. ensuring parents become good role models
about the country marked Z? to children.
A. Lt is the largest country in Africa D. providing moral guidance to the vouth
B. It is Africa’s greatest producer of through healthy leisure activities.
sugarcane
C. Itiscrossed by the Great River Nike 32. The type of democracy practised in the
D. fuvwas the first country 10 gain Kenyan government is
independence in astern Alvica. A. direct democracy
' B. representative democracy
27. The mountain marked M is called C. participatory democracy
A. Ahaggar D. nominational democracy.
B. Atlas Mountains
C. libesti
D. Rag Dashan
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33.

34

35,

36.

37,

38.

Which one of the following was a positive
effect of Furopean settler farming?

A. Creation of African reserves.

B. Exploitation of Africans.

C. Creation of agricultural cooperatives.

D. Discrimination and racial segregation.

The capital city of Nigeria is
A. Lagos

B. Free Town

C. Porto Novo

D. Abuyja

The MAIN factor to consider before
establishing a poultry farm is availability

A. water

B. labour

C. raw materials: -

D. market

The BEST thing to do for people with special

needs in the community isto

A. give them jobs in the community.

B. establish special schools for them.

C. providing them with special equipment
they need. : ;

D. create positive attitudes in them.

Which one of the following minerals is

CORRECTLY matched with the method of
mining involved in its extraction?

A. Fluorspar - Scooping

B. Gold - Dredging method
C. Sodaash - Panning method
D. Copper - Stripping method

The MAIN problem facing forestry in Africa
i

A. pests and diseases

B. drought and famine

C. rapid population growth

D. illegal logging

Use the diagram below to answer question 39

(M) Glass tube

39. The weather instrument shown above is called
A. An aneroid barometer
B. Hygrometer
C. A simple barometer
D. Mercury thermometer

40, Otunga has discovered that his classmate is
HIV positive. Asa good citizen, what is the
BEST thing for him to do?

A. Advise him to seek medical advice.

B. Report the matter to the headteacher.
C. Tell his close friends.

D. Avoid playing with the affected classmate.

41. Jua kali industries are encouraged by the
government MAINLY because they
A. depend on local resources.
B. create self employment.
C. require little capital to start.
D. lead to foreign exchange,

42. Julius Nyerere is remembered in Tanzania
MAINLY because he
A. transferred the capital city from Dar es
Salaam to Dodoma.
B. established ujamaa villages.
C. was a great teacher.
D. led Tanganyika to independence.
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43, Which one of the following was the MAIN

reason for the formation of East African

community?

A. To bring closer economic and social
cooperation in the region

B. To create a common market for goods
produced in thg region.

C. To promote free movement of people
among member states.

D. To improve transport and communication
in the region.

44. Most of the countries in Eastern Africa were

coloniscd by the
A. French

B. ltalians

C. Germans

D. British

45. Which onc of the following fishing methods

is MAINLY used in deep sca fisheries?
A. Purse-seining

B. Netdrifting

C. Trawling

D. Long lining

46. Which one of the following countries is

CORRECTLY matched with her main tourist
attractions?

A. Motocco - Table mountains, Kruger
National park

Warm sandy beaches, the
pytamids of Giza.
Victoria Falls, Hwango
National Park

The ancient town of
Marakech, Berber

villlages.

B. South Africa -
C. Zimbabwe -

D. Kenya -

4'7. Which one of the following is TRUE about

struggle for independence in both Tanganyika

and Ghana? The two countries

A. used peaccful means to fight for
independence.

B. gained independence before 1960.

C. fought for independence from Germans.

D. used armed struggle to gain
independence.

48.

49

50.

Horticultural produce in Kenya is transported
from major farms by

A. road

B. railway

C. air

D. water

In order to effectively communicate at
important matter to the masses, the
government should usc the

. television

radio

. internet

. government newspapcers

ey 9 B

Which one of the following is a social right
enjoyed by citizens of Kenya? Right to
A. work

* B. education

51.

2.

C. thought

D. tovotein elections

The highest and final court in Kenya is the
A. Court of Appeal

B. High Court

C. Chief Magistare’s courts

D. Supreme Court

Kenyan’s celebrate theirindependence day
on '

A. 1% June

B. 10" October

C. 20" October

D. 12" December
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53. The statements below deseribe a population

structure.

(i) Birth and deaths are few.

(ii)  Many people practise family
planning.

(iii}  The population is aging.

(iv) Most of the people live in urban
areas.

The statement above describe the population

structure of

58. Which onc of the following is COMMON

in the systems of government in both Kenya:

and Swaziland? In both countries

A. parliament consists of two houses.

B. there arc no general elections.

C. members of the parliament are clected by
the people

D. the president rules for a maximum of ten
years. :

59. The national government get its revenue

A. Kenya :

B. India MAINLY through

C. Germany A. court fines

D. Germany and India B. grants and aids
C. taxes

54. The MAIN problem facing trade in Eastern iDL R e HOE BT,

Africais 60
A. production of similar goods.

The first step towards conducting a general

B. high tariffs at border points clegtian = Ke.:nyats . .

. B i A. Nomination of candidates by political

C. political instability. . o Pt

D. Eicc)tovflotr{(:;nsport and communication B. Dissolutionof patliament

¥ C. Conducting civic education to the

- . clectrorate.
3. In the past, most communities interacted D. Announcement of election dates by the

through : IEBC

A. wars

BB. games and sports
C. intermarriage
D). trade

56. The MAIN role of the legislature in Kenya
15 to o

A. formulate government policies.

B. make laws.

C. amend laws.

D. implement government policics.

57. Which method of conflict resolutions majorly
invelves the judicial system in the society?
A. arbitration
B mediation
C. litigation
D. enquiry
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